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Angle Relationships (7.G.5)

For each problem, write and solve an equation to find the value of x. Then, use that value to find the

measure of ZABC. The diagrams are not to scale.
1 x= \%° caBc= 9(F*2= LY | 2. x=_ \A° cABC = 3+5(19) =9%°
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Real World Addition and Subtraction (7.NS.1b, 7.NS.1c)

Model the following number sentences using a number line. Find the answer to the number sentence.

|_ +—7 | H _""'Lﬁ |
L, -4 -2 0 Z % G % 3 L 4 -L 0 Z 4 b

3. A number line is shown below. The numbers 0 and 1 are marked on the line, as are two other
numbers, a and b. Assume the number line is drawn to scale.

ill] __r P - — - e — I_ > - e 1 e p—— — 'h‘
b 0 1 a
Using the number line above, decide if each answer will be positive, negative, or zero.
a+b= l"u-_“J:“-,L'J.,-l-;-'-Lu;'_ b+1= WMo WIE
3 J
a+—b=_poive a+-2= nc%mMUQ

4. Decide whether each of the following statements is true or false. Give examples to support your choice.
A. The sum of two negative numbers is always negative.
rwe -+ -L = -4
B. The sum of a positive number and a negative number is always negative.
false  \o+-\=19 S5+ -1=-0
C. The difference of two negative numbers is always negative.
false.  -2--10=% -A--5=-Y4
D. A negative number minus a positive number is always negative.
‘ue -2 -10=-\01L

5. Write two absolute value expressions for the distance between the two points on the number line
below. Then, find the value of each expression.

i |- -4l = \-4\ = H

i - e

DA o g o e e

9 8 7 6 54 3 2 1 0
6. For the pair of points below, write and evaluate two absolute value expressions to represent the
distance between the points. Then, make a number line to show the distance between the points.

7 and -3 M— = —P |7--31 = {ol= 10
W 206 2 4 v 3 o A-3-1l=l-el=10

Which of the following expressions below are equivalent to —15 + 12? Circle ALL that apply.
A 12415 B. 15+—12 (c) -15--12 D. —15-12
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Addition and Subtraction of Rational Numbers (7.NS. 1d)

Find each sum or difference. Show work for problems with fractions and decimals.

1. -8+-11= —\G 2. 12-30= —\Y 3. 16+—4= |7
4, -15--7= — % 5. —6+-9= —\S 6. -3-5= —Y
7. —4+11= 7] 8. —-6--14= Y 9. 8+-15= —|
10. —-118+26= —9, 11. —-61-3998= — (O, 09
n.< '©.\0O
-2\ +2. A%
12. -58--479= — | O\ 13. 84+-161= (5,719
S.%0 Y R0
_H.‘?q_ - L.\
1.0 G .19
2__p%_ 2\ 2% 3, 51_ | L N
143 29_ %"\ °% Y 15 35+ 22_ \‘O °® o
b, 2L | 1% B o5 .3 28 .0
a a4 - T4 ) Z O o o
D I A al__pt_ _\3
16. 13+111— 23 17. 36 29— <
N A W -\q4 22 . -5T LMY | \3
R 33 33 33 © A \% \% \3
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Real World Multiplication and Division (7.NS.2a, 7.NS.2b)

1. Use the distributive property to write an expression equal to each of the following expression.
a. —3(7+-9) b. (-2-—-6)—(—2--11)

-2+ —3--9 =2 (- -1

2. Mark takes 6 friends to play paintball. It costs $10.25 to play and $8.75 to rent the equipment, per
person. Include units with your answer.
a. Using your understanding of the distributive property, write TWO equivalent number sentences (one
factored and one expanded) that would find the total cost for all seven people.

T(\0.2S + 75)
7.0 + 1-%71S

b. What is the total cost for all seven people? Show your work and include units.

\0.25 "9 ————
TR 0 S “at’i&z\g%_l
19. 00 |33 e

3. A football team loses an average of 3 yards per play. How many yards have they lost after 4 plays?
Show your work and include units with your answer.

-3.4% = F’): L.\Ilm‘?‘&_\l

2
4. Select ALL values equal to — >

-2 1 - -'-.2
A, —=— 'lf .-"—_— C. =~ 0o ? Il-fE._—

5. Together, siblings Brandon, Brooke, Trent, and Trisha owe their parents $100. How much does each
sibling owe if they share the debt equally? Show your work and include units with your answer.

oo + 4 - ]
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Multiplication and Division of Rational Numbers (7.NS.2¢c, 7.NS.2d)

Find each quotient or product. Show work for problems with fractions and decimals.

1. -8-6=-4<Y 5 I35 _ q 3. —12-—4= 4y«
" -5
4. -15+3= =5 5. 7-—4=-17% 6. 60+—-6= —(0O
7. 831 --34= -17%.254 8. -33+4= -0 %LS 9. -77--15= ||.55
L 0.%2S 3
3. 3\ o — 1.7
X S-L{ ‘-\);'300 V4 \\S
3324 =3 L. 3%5
4+ 24430 _\2 L1710
%254 T Z20 W ss
E;_ l__l _3 _l. l——!—s: . N | _l_._ E— 5
10. 5=+ —3; = 3 o \_‘__‘11. 13-15=-3 o -| 1 120 —13+ 55—_@
3% . -lo -5 .3 _-1\S -3+ -27
¢ T3 Y z T =
—S—s“‘.—_—g—:-_l_o_g:_l '}—oé—ls
© 1o b q A 21 =y
Find the decimal equivalent. Show your work.
_7 _ 0.5%3% 5 0,is
13. =2 = 0.5%53 12)7.0000 W —= —0.L2S %/5.000
-LO - 4%
100 20
- b
“o 40
-8 S}
Qo o
~3b :
-11 _ — 3. bl === -13 _ LelS
15 —= -3,L 300 4 16 — = \.L15 213.000
. =%
20 50
18 4%
20 20
=% Vo
2 40
40
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Order of Operations (7.NS.3)

Find the value of each expression. Show all steps.

1. -12+-2-(4=5) 2. 2-6-(-1+12+3)
“115 -2+ (-0) 2-6 = (-1 + W)
W - -\ -2
—u-3

—

3. —4--1+(2--5) 4. 6—(16+(5-3)*+5)
4ol 4 7% L - (b + L2 +%)
~4 - ruq b - (Wb = 1 +5)

1+ 49 b - (v +5)

® e
D

5 _31_(3__13_21) 6. 3.1-(-2.3-04)-1.083 2.3
R e 30« =27 -1.083 o
“#b{§—3 =1%) ' =1
) - -%.57 —1.0%% 2.
-34-(3 -2 —, g
= - —c‘ths—S Xl
. (A + 2 ©
- ( "’> 32
-3 . \ ‘
P 2510
4\ Od>
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Similar Figures Problems (7.G.1 Solve)

Each pair of polygons are similar. Find the missing side length. Show your work to find and use scale factor.

1. scale factor ‘\"3 yA gowcy\)mc\\ 2. scale factor 2.5 35 cov(c}?of\ds
o : withh 3, so o witn W 3o
missing side 1 wnihs SE = %-‘r?_l-\-;—‘— missing side 2.0 waidy SFe3S 14 = 2.5
deorhinigh 3 5-"F~¢'r:"rr_'h'.-r'«.ﬁ
. 24
3] e 2\ me:spovxé,\ B orreypondy
U w7 so w7 o
T=20-35=T7 © 7=%+25=20
3. scale factor _O./S {2 c,e«c:,?o«ds 4. scale factor OB 30 th&?W‘C\J
witn b | o wits 24

missing side & _woanys

!

gl
5":._ WH\O)

SF= L x\170S

\\v w«ts?cvxd_s
w ?I Sb
72\-05=%

O
missing side 12wty SE =24 ;5&:0.‘&

&

snr i 'Y\U“j

\S covv C\Pc\r\és
wit\ 7 so
7=\S0%=0

scale factor of 2.5.

A figure has a perimeter of 35 meters and an area of 75 meters’.

A larger similar figure is created using a

a. What is the perimeter of the larger figure? Show your work.

235+ 1S = Y%ﬂs netecs ‘l

b. What is the area of the larger figure? Show your work.

S « 25*

A figure has a perimeter of 30 feet and an area of 54 feet’.

scale factor of 0.75.

-~
—

1S » LTS

g\p_‘; IS ceder 7'11

A smaller similar figure is created using a

a. What is the perimeter of the smaller figure? Show your work.

30+ 0715 =[S v |

b. What is the area of the smaller figure? Show your work.

Sh- 08T

SH s 0.5L1S

-—
o

|20.31S H 2
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Unit Rates (7.RP.1)

1. This diagram shows how much apple juice is mixed with carrot juice for a recipe.

Apple luice: 1 cup 1 cup 1 cup

Carrot Juice: 1 cup 1 cup

How many cups of apple juice are used for 1 cup of carrot juice? Show your work to find this unit rate and

include units.
3 cupd “?%i o Xl o ¥=3:0S-
L waps Coxy I cup casvolr -
”‘:L_}__;:‘: ll 1.5 APl mppit.jw.u

P | anp Coavot

‘E\A\Ul

2. For a drink recipe, there is a ratio of 3 gallons mango juice to 12 gallons of peach juice.

How many gallons of mango juice are used for 1 gallons of peach juice? Show your work to find this unit
rate and include units.

2, aallGny Mafean e o \ 3&\\0#\3 ?cou)m \‘\u(\u.

'| .
l.__,

= OLS &¢ —2\’ obal\o\(\s N\ﬂkﬁao AVUU pexr A :jr.aﬂm
PrLC \:\\ju(.k

. . : T |
3. The train ride at the zoo covers a distance of 3 " miles in 3 of an hour.

How many miles per hour does the train go? Show your work to find this unit rate and include units.

%ﬁ les = ‘\g' \\owr 3\0\% o 4TS owles pox \(\W—\
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Proportional Relationships (7.RP.2a)

1. Circle ALL the tables below that represent a proportional relationship between x and y.

X X K ®

] S it W04 il B4 X y x y
1 4 11 4 1 6 5 -2 3 12
2 7 2 8 2.4 7 7 0 5 20
3 | 10 3l R 3| 8 9 2 2 8
4 ¥ a3 4 | 16 419 11 4 8 32
§+5  §-F 0 L4E Tra § g

2. Explain how you know if a TABLE represents a proportional relationship.

The talbe N Co\wuodm\— N0y peruoten Han volus,

3. Circle ALL the graphs below that show a proportional relationship between x and y.

5 B ©

0 2 RN S W S EaE

=¥

18
[
]

/1 ‘
- -5 =320 | 12 3 435 £x € 5 -3 214 L 2 3 4 1 &4 et | »
i £ L L Fed 1.3%
.‘r "3 -3 Vet |
i / ;

4. Explain how you know if a GRAPH represents a proportional relationship.

e ogvu?\(k NN s’wa‘wd\r\ﬁr \\ne -¥\(\®A6\(\ (0,0Y,
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Proportional Relationship Equations (7.RP.2c

1. The following tables show a proportional relationship between x and y.

A, B.

x|y = y
1|4 3 .4 12
2 48 5 | 20
4 M16 g8 -4 32
a. Write an equation of the form y = rx to represent table A. \\A) =4 \C
b. Write an equation of the form y = rx to represent table B. \j = L‘Hc

2. The following graphs show a proportional relationship between x and y.

A. ¥ B oy onn?
1,600 —
40 *
E 30 $1.200 CeisE
g o)
5 20 $800 -
2
S 10 : $400 |
(%) |
0 X $0 X
© 2 4 6 0 10 20 30 40 50

Time (seconds) Number of Bikes

a. Write an equation of the form y = rx to represent graph A. _\\ — SX

b. Write an equation of the form y = rx to represent graph B \3 = SD X

it

-9
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Explaining Coordinate Points (7.RP.2d)

1. The graph at right shows a proportional relationship between x and y. ¥
40
What do the following points represent in terms of the situation? 2
- 30
]
0.0) Yo Vnave davcted O medecs afhor s 20
O conAl. 2 i
(1L,5) Now \vove Avoweled S merers aller
0 X
\ scwond. 0 2 4 6
(6,30) \[sue \rove Avowseled 20 meXecs &'QVW Time (seconds)
o Cwnas.
2. The graph at right shows a proportional relationship between x and y. $1 600y
What do the following points represent in terms of the situation? $1,200
(0,00 © ‘Yoiey (o D, $800
$400
(L,30) | l\owe costs ®20, $0

X
0 10 20 30 40 SO
Number of Bikes

(40,1200) HO ‘oikes (o El200.

3. The following graph for Superior Buses shows a proportional relationship between x and y.

5000 Select True or False for each statement about the graph.
4000 Statement True | False |
] 1]
E Point O represents the total :
© 3000 cost of travel when traveling ><
- for 400 miles.
‘= 2000 =
= The total cost of travel is $5 ><
o ! .
“ 1000 when traveling for 1 mile.
0 — The total cost of travel is $600
0 500 400 €00 800 1000 when traveling for 3000 miles.

Miles of Use
# Fast Coast Transport  m Superior Buses
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Multi-Step Proportion Problems (7.RP.3)

1. The ratio of blueberries to mango in a fruit smoothie drink is 5 to 15. What percent of the drink is
mango? Write and solve a proportion to find the answer, and include units.

S+\S= 70 +oval \S erango _ _\—(__:/—,__ v=15.5 =15
20 totad oo
\g/’

‘L’l S% onay u:?'.p_\
2. Bill has a paper route in his neighborhood. It takes him 45 minutes to deliver newspapers to the 30

customers on his route. How long will it take Bill to complete his route if he adds 25 more customers in
his neighborhood? Write and solve a proportion to find the answer, and include units.

20 + 2S5 = S5 cuntomeny S o _ Y onan
' 2,0 (udTONEs 5SS cudtomMesy
\Go?, 5 N\\t\w\{ﬂ 15

=4S -\ = 2%
3. You have lunch at a Thai restaurant with your friends. The bill before tax is $54.75, and the sales tax is
7%. You decide to leave a 20% tip for the waitress based on the pre-tax amount. What will be the

amount of the total bill, including tax and tip? Write and solve proportions to find the answer, and

include units. t’%"*."lg By “SL\-.'I‘E;_ _ ¥y
5%.9%1S \00% o1 \OO % 2.0,
v 102500 ) T
'ﬁﬂl-% 515 .l.o-—l Tu
K =GUAS - Lo SR SRS x=541S »0,2 = BoAas

| B3 |

4. Shirts Galore sells a Batman shirt for $24.49, but is having a sale for 25% off. Rainbow Shirts sells the
same Batman shirt for $21.99, but is having a sale for 15% off. Which store offers the better price, after
the discount? Write and solve proportions to find the answer, and include units with your answer.

LN . na | Bx
T \00% 15% " oo% \S%
~_A S
01S 0%
= 144 - 0.2S 26.121S =144 «0.\S =*324%5
2444 - LTS = *1%.36T5 1A - 3,298S = B1R.LAS
(O g (o)’
8.3 ®1.L9

\S(\\( s Galore offors e wedher p(\c,oj



